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APPENDIX III

11.8.98

REGINA  v  MANKOTIA:  WRITTEN DIRECTIONS

MURDER

1. Murder is established if -

a) the deceased died,

b) as a result of an unlawful act of the accused,

c) the act was done -

I. with an intention to kill the deceased, or
II. with an intention to inflict grievous bodily harm on her, or
III. with reckless indifference to human life, and
2. If the Crown fails to establish any of (a), (b), (c) and (d) above, the Crown has failed to establish murder.

3. Killing a person is unlawful unless it is justifiable, excusable or accidental.

4. Grievous bodily harm means really serious injury.

5. An act is done with reckless indifference to human life if the accused knew or foresaw that his act would probably cause death, that is, that death was the likely result of his act.

Provocation

6. An act causing death is done under provocation where -

a) The act is the result of a loss of self-control on the part of the accused, and
b) The loss of self-control was induced by conduct of the deceased towards or affecting the accused, and
c) The conduct of the deceased was such as could have induced an ordinary person in the position of the accused to have so far lost self-control as to have formed an intent to kill or to inflict grievous bodily harm on the deceased.

7. An “ordinary person” is a person of the accused’s age with the ordinary powers of self-control for a person of that age.

8. The Crown may establish that the accused’s act was not done under provocation by satisfying you beyond reasonable doubt that any of (a), (b) and (c) above was not so.

MANSLAUGHTER

9. The accused may be found not guilty of murder but guilty of manslaughter.  That may occur in one of two ways.  They are (A) and (B) as follows:

(A):  If the Crown has established all the elements of the crime of murder except that the accused was not acting under provocation.

10. In that event, the accused is not guilty of murder but must be convicted of manslaughter.

(B):  If the Crown has established all the elements of murder but the accused establishes the defence of diminished responsibility.

11. Diminished responsibility is a defence to the charge of murder.  The burden of proof is on the accused.  The standard of proof is proof on a balance of probabilities.

12. Diminished responsibility is a partial defence.  If the defence is made out, the accused must be found not guilty murder but guilty of manslaughter.

13. The elements in the defence of diminished responsibility are -

a) the accused was suffering from an abnormality of mind, and 

b) such abnormality of mind arose in one of the following ways.

I. it arose from a condition of arrested or retarded development of the mind, or
II. it arose from any inherent causes or
III. it was induced by disease or injury, and
c) such abnormality of mind substantially impaired the mental responsibility of the accused for what he did.

14. An abnormality of mind means a state of mind so different from the ordinary that a reasonable person would call it abnormal.

15. The phrase “inherent causes” includes a cause from within the mind, as distinct from some transient influence on the mind such as the temporary effect of alcohol or drugs.

QUESTIONS
16. There are only three possible results:
· guilty of murder.

· not guilty of murder, but guilty of manslaughter.

· not guilty of either.

17. You will be asked:  “Do you find the accused guilty or not guilty of murder?”  Your foreman will answer “Guilty” or “Not guilty”.

If you find the accused guilty of murder, there will be no further question.

If you find the accused not guilty of murder, you will be asked:  “Do you find the accused guilty or not guilty of manslaughter?”  Your foreman will answer “Guilty” or “Not guilty”.

18. It is necessary for your verdict to be unanimous.  But it is not necessary that you all arrive at the same result by the same approach or for the same reasons.  You will not be asked as a jury or individually how you arrive at the conclusions you reach.

